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Attempt any two questions frém each Section.

Section A
o I3 -2 a b .
L @ 1If A= : and B=" 1, find @ and &
14 1l 3 5 '
such that AB = BA. Compute 3A + 5B. -4

P.T.O.
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() Given A=|3 0|,B= . Calculate AB. Can
5 1
you calculate BA ? Explain your answer. = 3

‘(@) Find the inverse of the matrix

4 -2 1
A=|7 3. 3 3
2 0 1

(b) Solye the‘follow.ing syétéril of ‘ équations' by Cramer’s
mlé T
x —'.4y = 11,
2% - Sy + 2= 39, |
xt oy tze L e
(@) Find thé leﬁgth of mgj;)r".and ininor' axeé,‘ coordinates
of foci, vgrﬁces and éccent{icity and sketch tﬁe bgraph

of ellipse 4x2 + 252 = 100. 4
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Find the centre and radius of the given circle

R4y oxt2-3=0 3
. Sect.ionA B
If -
x
find 2. | 3

dx

Examine the concéility of the following . function :

fo) = %3 - 3%+ 3x - 3. 3
A function f is. defined as,

x+1 if -1 < x<0
f(x)=3x, . if 0 <x<1

12-x if 1 <x<2

Show that it is discontinuous at x = 0 but'is'contvin,uo'us
at x = I. 3

PTO.
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Prove that the curve 3y = x3'— 3x2 — 9% + 11 has

a maximum value at x = -1, a minimum value at

x = 3 and a point of inflection at x = 1. 3

" Verify Lagrange’s Mean Value Theorem for the function

f(®) =./x? ~4 in [2, 4]. 3

Obtain Maclaurin’s series expansion of flx) = . 3
Section C
Find : .

Ixz sin x2dx | ~3

Find the afea'of the region bounded by the curve

Ly = x2, the x-axis and the lines x = 2 and x = 3. 3

Find the general solution of the differential equation

Q=x+1,y¢2.' - 3
¥ i
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(b) Evaluate :

jx.l_ogxdx_ 3

(@) Solve

5658

gyx—? x\/xz +A1, .

~given that y = 6 at x = 0.
(b) Given MR = 2 - 6x, where MR deﬁote marginal revenue.

find ‘revenue function R. 3
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